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1. Answer any ten of the following as directed :
1x10=10
eI Tom [ e bR Tee o

(a) Are ‘symbolic logic’ and ‘formal logic’ same?
A ?
(b) Symbolic logic uses verbal / non-verbal /
both verbal and non-verbal symbols.
( Choose the right answer )
AR SFR@ e /| wRe [ R
S SR ToH 2P A8 STl I |
(= Tachl MR Tferean )
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(c)

(d)

(e)

()

(g)

(h)
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(2)

Who is the author of the book, The
Mathematical Analysis of Logic?

The Mathematical Analysis of Logic &®499
(FF CFH?

Who is credited to have used the word
‘symbolic logic’ for the first time?

‘ORI SHRBE’ ¥ AW AR Ffog 6
fran =3 2

What is unary connective?

G TAMMRMR s 3 2

“If it does not rain, then we will go for
shopping.”” Symbolize this proposition.
‘I TR A o' Wit IwR SR
T 1”7 F5ICH! LIPS S FARI 3 |

‘A conjunctive function is true if at least one
conjunct is true.’”’ Is this statement true?
“abl ST T 7O W A O wwsfo
IFO: BT IS O] T 1 FAR 60w 2

Name the logician who introduced the
concept of stroke function.

QT TR {[NET TR T4 SERE@ AT 7
Gl

( Continued )
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(3)

(i) Shorter truth table is allied to propositional /
predicate logic.
( Choose the right answer )

o STerel Siferl e ST / R
TP REas |
( = Teach! AR Sferear )

(i) Symbolize the proposition ‘‘Only bachelors
are teachers’’ with the help of quantifiers.
Af{q1oF 79299 GH€ACS “‘Only bachelors are
teachers’” I64ICH1 AIPIRE SFRS 14 |

(k) Give an example of existential proposition.

b1 SIS 719 Trzaet it |

() “In a shorter truth table method a given
argument is assumed to be valid.”’ Is this
statement correct? :

“vy erel wferere GOl (Y I 4R T
27 7 FYER oA ?

(m) Who first used the word ‘quantification’?
‘Quantification’ *CBl CAAACH CFICA 2T
fafee 2 ‘

(n) State the rule of transposition.
Transpositiond o1 fer< |

(o) Can a true proposition imply a false
proposition?
G O I <O ey e e R
2 ?
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(%) (5)

2. Give brief answers for the following questions (h) Which rule of inference is known as chain
. ( i five) : 2x5=10 reasoning? State the rule.
any : i .
o eppTEd Sifee B frn (R e #od) mﬁgﬁtﬁ (ZERE Sl (e
{ R |

(a) What are the two-fold tasks of symbolic
logic? 3. Answer any four of the following : 5x4=20
o Srrae wHRET R e I 3 {32 wo R e BiRkGE Tee fare -

(b) Write any two functions of symbols. (a) Distinguish between constant and variable.

@1 (e o1 el fora |

(c) What, according to Russell, are the three
parts of symbolic logic?

W Wo Ao whfwme fofAbr s i QR o
2 o f] i P

(c) Write a brief account of the symbolization
process by using the basic logical connectives
(¢) Write two advantages of modern in propositional logic.

classification of propositions over traditional SRR v S S

5o S[F SRR FIFT 21237 B |

(b) Distinguish between propositional logic and
predicate logic.

(d) What is a propositional variable?
TS 59 2

classification. AT IR AT A B Aol 797 |
HREwe @Ed Wy SR .
ggﬁ W i l\g (d) Use truth table to determine the validity or
o1 SCE

invalidity of the following argument :

o] SIfeRd 21 o IRFOR x-Szl

(f) Define a singular proposition.

3% o i i | )
(g) How does a general proposition differ from a Lo
class-membership proposition? i

YR qo4 fIUc G STl 559 AR ST ? S~ p2g
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(e) Distinguish between universal and existential

quantifier :

e S SR AR A el 40

(f) Construct shorter truth tables to determine
the validity of the following arguments :
oo Yfermzd el e PReT 5 Tl
iferel 9109 41 :

() P24
el
)
(i) P>4
qvr
~por

(g) Write a short note on modern square of

opposition.

ﬁm«wqﬁ@aeﬁmﬁmmwmﬁw

(h) What is quantification? Symbolize the
following statements by using quantifier :
o 15 2 ARAFT Al I TAI TPTRR
ASFIIS SRS ford :

(i) Only graduates are eligible for the post.

(ii) Some philosophers are not
mathematicians.

(iii) Everything is movable.
( Continued )

1.5 )

4. Answer any four from the following questions :

10x4=40

o 2ppTRd R e BiRGR Tas forg

(a) “‘Classical logic is related to symbolic logic as
embryo to adult organism.” Discuss the
statement.
“Bq GO IR R Ao BT, abe
Hfiem Wi FREEe dae @R
TFRLS |7 TSB! SCEADA 47 |

(b) What is truth table? Explain truth table
method as a decision procedure.
ool e [F2 fdre ofe R el
SIferl “(mf® 1 4 |

(c) What do you mean by truth-function?
What are the basic truth functions? Explain
any two of them.
ol Fer 2 (qfere ool Tz &2
& e ¥o1 2w 3940 1

(d) What is a formal proof of validity?
Distinguish between rules of inference and
rules of replacement.

QqeR wRIRe oW 2 SR o wire
Tl foq «12f fora |

(e) What is simpfe proposition? Define various
kinds of simple propositions with proper
example.
39e 54 2 THrzaepTR e IR R[few o
e i |
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(f) What is general proposition? Define various
kinds of general propositions with proper
examples.

My o 72 Toe TP TR I
R e vicea i |

(g) What is shorter truth table method? What
mechanism is adopted to construct a shorter
truth table method?
oy Sterel OIfel e 2 5 el e
151 PR [ (FPIe SReTg 9 W ?

(h) What are the strategies for constructing a
formal proof of validity? Construct a formal
proof of validity for the following :

@HeR gMfae SR AN (FrErz [ R0
e fig IE0R (AMeR AP SR o5
4l :

FvG>o~A

AvW

. T/ W

(i) Explain the method of symbolization of
traditional A, E, I and O propositions by using
quantifiers :

FARAPIFE TS =[S A, E, I IF O I571
AT RS I T |

(i) Explain the four quantification rules.

offRsewe g sif{Gr 2 40

* % %k
22A—5000/1185 3 (Sem-2/CBCS) PHI HC 2



